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Figure. 8. Histogram of distance from reference data




B {5 72 A L\ 2B R

E{GNE (Tv oHE)

o
vy !
o -
ATE N —
xRl
) \
SN
A\ N\

AN LDy DR EmMET S.



ANEERZTTIC/ 4 XZERE

Hough'ﬁiﬁa(_ota—c%iwwmﬂj
HOWMHIE, MO TREIF.

#180% D52 i [T AT




ALHE

AV ERDER

ALEEE, 600kmLl ED
ROWER (11km) ZiRs?

=77 7 4 BAEE e



FBEBERISX IV EIREERT S

o RESDEUS
RN DOGSREREESNS(IHESH
HAESZGPSEaIL RIS 1T &k - TEHAI

o IV BN DZE
#RIZZE IR T DM IE H AT REDIRET
3RTLHI R AR 3RTLT 7 14 V&
g UxtGmy+asztay I> U= a1X+ayy+azz+ay
s v=bx+byy+bz+by
v=b1x+b2y+b3z+b4 7 7 :
a5x+a6y+a7z+1 Faﬂ%f&:ﬁﬁﬁa?ﬁﬁ

RLEFRICED M 2



¢§L_L_L/ZLCHS_ﬂ

‘/ﬂ: ; |‘é ODI_J(,\T

O— K= n=z

B2 ($1E 5

»x&?—&w%gw

AR, EBER, T

| T 2B IEHR P EEth
& TRRMEDE

% {1hk

7

HrFr—&Z&FDODHD
o HREBNICEESINEBTHRMICEDILSHD

= lI:,\ilfbi, 91‘%'3:#‘7?’ %E

~5%, 1,

)ﬁf

7xE L,

X 7




HE&GISICWELRES:

F— & &I AN AL
HIES R A DB
F—GHRBEDLL H
T—HIDER - EE
GISEBA BHIDBEHEL [>
o T—HRITDVLEMN
NHBETZHHYDD. . . HTEE~DOLE
F—HEEIR FOHIR
=HIEEHEGISOFIMA !

T—HERBEITEG
2 =132 7 %




i c‘: &5 . T—YHBEDOEBES
JBEET—YDEEM

U oDEHDETEHEV
o HEXTHN A ERE Z KON
W SBEZEITTHREEICERSIL

o E{RORMBAV/LFI A
EiglE, BRT—% L LTBHTHY




